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	CID
	Page
	Clause
	Duplicate of CID
	Resn Status
	Comment
	Proposed Change
	Resolution

	431
	65.31
	7.3.2.30
	
	A
	"Note that a PTP TSPEC is a TSPEC exchanged between two non-AP mSTAs. The element format described in this subclause applies to the PTP TSPEC unless stated otherwise." seems back to front
	"Note that a PTP TSPEC is a TSPEC exchanged between two non-AP mSTAs. The element format described in this subclause applies to the non-PTP TSPEC unless stated otherwise." seems more likely?
	Implement as noted

	956
	66.04
	7.3.2.30
	
	P
	Why the gratuituous change to normative behaviour described for the HC?   The "may" gives permission and is much stronger than "can".
	Restore "may" at this point,   or separate out the "can" case for the non-HC.
	Implement as in the text below

	957
	66.15
	7.3.2.30
	
	P
	"TSID subfield" - it's unclear whether this is the TSID or the SP TSID field.  If refering to the TSID field, the statement "TSID subfield is 4 bits in length and contains a value that is a TSID" is unnecessary as it duplicates the baseline.  If intended to refer to the SP TSID field,  add the missing SP.
	As in comment
	Remove the sentence as noted

	958
	66.19
	7.3.2.30
	
	A
	"A bidirectional link request is equivalent to a downlink TS and an uplink TS, each with the same TSID and parameters."  This duplicates text in the baseline.
	Remove it.
	Implement as noted

	14
	67.15
	7.3.2.30
	
	P
	The "reliability" field does not specifiy reliability, it specifies PER.
	1. Rename field to "PER"
2. Add a definition of PER (and be clear if it is PHY packet error rate or MPDU packet error rate)
	Implement as in the text below

	173
	67.28
	7.3.2.30
	Dup of 161
	P
	This paragraph reads as if the SP TSID subfield is only present/valid for a PTP TSPEC.  But, nowhere does it say that.  This leaves the meaning of this field (which will be 0) in legacy TSPECs unclear
	Specify that this subfield is only valid in PTP TSPECs, and is reserved otherwise.
	Implement as in the text below

	161
	67.28
	7.3.2.30
	
	P
	This paragraph reads as if the SP TSID subfield is only present/valid for a PTP TSPEC.  But, nowhere does it say that.  This leaves the meaning of this field (which will be 0) in legacy TSPECs unclear
	Specify that this subfield is only valid in PTP TSPECs, and is reserved otherwise.
	Implement as in the text below

	1044
	266.22
	11.4.1
	
	P
	The conditions at line 18 and 22 are not mutually exclusive.
	Make line 18 specific to OBand
	Implement as in the text below

	1046
	269.12
	11.4.4
	
	P
	"If a non-AP STA in a BSS" - "in a BSS" is meaningless
	Replace with something meaningful
	Remove “in a BSS”

	644
	269.19
	11.4.4
	
	P
	"The MAC or SME of a mmWave STA may allocate a TSID and use it to identify the frames 19 comprising a flow with a peer STA without using ADDTS Request and Response frames."

Does this create a TS or not?
	Clarify by note here whether this creates a TS or not.  If it does,  add a transition in the TS state machine showing creation of a TS without an ADDTS.
	Implement as in the text below

	1048
	270.20
	11.4.6
	
	P
	"During SP allocated as defined in 11.4.11.1 and 11.4.11.2, the 20 MSDUs are transmitted using QoS data frames."

This implies that at other times MSDUs are sent using non-QoS data frames,  which is misleading.
	Reword sentence so it says something not misleading and useful or delete.
	Implement as in the text below

	1049
	270.34
	11.4.7
	
	P
	"and when the TS Info is used,"

What does this mean?  Who does the using.  What does "to use" a TS Info comprise.

Ditto line 36
	Relate to signalling across a well-known interface (MLME SAP or the air)
	Implement as in the text below

	1050
	271.17
	11.4.8
	
	P
	"in a BSS" - this says nothing.  I expect the intent was to say something else.
	Modify to something else wherever this phrase occurs in this subclause and elsewhere in the draft.
	Implement as in the text below

	1051
	272.06
	11.4.8
	
	P
	"respectively,"

Given we have a well hidden choice of 3 sources (HC, AP, PCP) and 2 destinations,  just how does "respectively" work?

This is a normative statement,  and such ambiguity cannot  be tolerated.
	Replace sentence by two statements,  one for each of the destinations.
	Implement as in the text below

	1053
	272.10
	11.4.8
	
	P
	"the non-AP STA" - in the previous line there are two peer STAs,  so the antecedent is unclear.
	Be more explicit about which STA we're talking about.
	Implement as in the text below

	1054
	273.35
	11.4.12
	
	P
	"The ADDTS Request 35 frame forwarded through AP/PCP mSTA shall contain a TCLAS element with the classifier type set to 36 Ethernet parameters and the Source Address field shall contain the address of the mSTA that sends the"

The use of the passive voice ("forwarded") is dangerous as it hides the actor.   In this case I don't know whether it is the initiator mSTA or the PCP that inserts the TCLAS element.
	Reword to avoid passive voice,  e.g. "A non-PCP STA that transmits an ADDTS <condition> shall include a TCLAS <more stuff> with Ethernet <blah>."

Review all use of passive voice in the draft and re-word any such statements where the actor is hidden such that the actor is explicit.
	Implement as in the text below

	1055
	274.01
	11.4.12
	
	P
	"shall forward" - the process of forwarding is not adequately defined.   Which of the fields of the received ADDTS are copied into the transmitted ADDTS, and which are locally inserted?
	Be explicit about which fields are copied and which locally inserted.
	Implement as in the text below

	1056
	274.10
	11.4.12
	
	P
	"and for CBPs the mSTAs that established the TS communicate."  - this is something I don't know how to parse.
	Turn into parsable English.
	Implement as in the text below

	1057
	274.13
	11.4.12
	
	P
	"If the mSTA asserts the direction field"

In what sense can a STA be assertive?  Perhaps it turns up the transmit power (the electrical equivalent of shouting),  or repeats the information a lot of times.

In a well behaved protocol, there should be no need of assertive or boorish behaviour.
	Reword the condition in terms of values of fields.
	Add “value equal to “ before Downlink


CID956

Discussion: The intent of the change to word “can” instead “may” was to make the sentence completely informative   w/o any normative meaning, and the reason not to define normative behavior in the section of frame formats. I suggest to leave word “can” and to add reference to the sub clause where the normative behavior is defined.

Solution: add at end of the sentence “as defined in 11.4.4” 

CID14

Discussion: The field is the Reliability filed indeed - higher reliability index it contains means better Reliability and lower PER respectively.  It also stated that the PER is measured as defined in PHY. 

Solution:

The reliability field is 2 bits in length and contains an expected reliability index. The reliability index refers to PER of the PHY (PSDU Packet Error Rate as in 21.3.3.8). Relation between the reliability index and the PER is shown in Table 10.
CID173

Solution:
At end of the paragraph that starts with “The SP TSID subfield is 4 bits in length …” add sentence “The SP TSID subfield is only valid in PTP TSPECs, and is reserved otherwise”
CID1044

Solution:
At line 18 modify as follows:

In an OBand infrastructure BSS, a non-AP STA may simultaneously support up to eight TSs from the HC …   
CID644
Discussion: The TSID is relevant for SP identification, TS identification, and BA identification. Each one of the cases as well relationship between them just presented in the basic spec and in the TGad draft. Hence there is no need to any other way to allocate TSID.

Solution:

Remove the paragraph.  

CID1048

Solution: replace the sentence by:

“The MSDUs are transmitted during SP identified by the TSID equal to the TSID of the MSDU or during SP identified by the SP TSID of the PTP TSPEC that belongs to the MSDU TSID.”

CID1049

Discussion: In both cases mentioned in the comment the TS Info subfield and the TS Info subfield of the Extended mmWave TSPEC are part of the TSPEC or Extended mmWave TSPEC respectively. Being part of the TSPEC the mentioned subfield it is always used as part of the TSPEC exchange to establish the TS. Hence there is no specific case when the subfield is used. Recommend removing the part of the sentence.

Solution:

Remove “and when the TS Info is used,” at line 34

Remove “and when the Extended mmWave TS Info is used,” at line 36  

CID1050

Solution: 272L14 remove “in a BSS or TS timeout in a PBSS”

Remove “in a BSS” at 

189L34

267L9

267L11

269L12

271L17

271L21 twice

276L27

277L24

277L28

301L4

CID1051

Solution:

In response to an inactivity timeout, the HC shall send a DELTS frame to the STA with the result code set to TIMEOUT and inform its SME using the MLME-DELTS.indication primitive. In response to an inactivity timeout, the AP mSTA shall send a DELTS frame to the non-AP mSTA with the result code set to TIMEOUT and inform its SME using the MLME-DELTS.indication primitive. In response to an inactivity timeout, the PCP mSTA shall send a DELTS frame to the non-PCP mSTA with the result code set to TIMEOUT and inform its SME using the MLME-DELTS.indication primitive.
CID1053

Solution:

When using the mmWave PHY (clause 21) and the TS is established between non-AP STAs (PTP TSPEC) then in response to an TS timeout detected within the originator non-AP STA, the STA shall send a DELTS frame to the recipient non-AP STA with the result code set to TIMEOUT and inform its SME using the MLME-DELTS.indication primitive.  If the TS timeout is detected within the recipient non-AP STA the STA shall send a DELTS frame to the originator non-AP STA with the result code set to TIMEOUT and inform its SME using the MLME-DELTS.indication primitive.
CID1054
Discussion: It is not clear if any use of passive voice has the same negative impact as commenter sees about the particular case. The solution addresses the referred sentence only to allow the commenter to be more specific about others.
Solution:

A non-AP mSTA that transmits an ADDTS request frame to peer non-PCP/non-AP mSTA to include the additional TS should forward the ADDTS request frame to the peer mSTA through the AP/PCP mSTA to provide the information to the SP scheduler. This frame shall contain a TCLAS element with the classifier type set to Ethernet parameters and the Source Address field shall contain the address of the mSTA that sends the ADDTS Request frame and the Destination Address field shall contain the address of the peer mSTA in the allocated SP.
CID1055

Solution:

Add at end of the paragraph:

 The AP mSTA and the PCP mSTA shall not change the Information elements included in the ADDTS Request and ADDTS Response frames.
CID1056
Solution:

The PTP TSPEC shall be used to convey traffic parameters of the TS; for the mSTAs that established the TS the parameters are applicable to communicate during SPs and CBPs. 
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Abstract


This document provides solutions of CIDs 431, 956, 957, 958,14, 173, 161, 1044, 1046, 644, 1048, 1049, 1050, 1051, 1053, 1054, 1055, 1056, 1057 in realtion to the Draft P802.11ad_D1.0 and the data base 11-10-1220-07-00ad-lb168-comment-database
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